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Mixed conditionals - 2+3/3+2  
Answers 1 

A. Match the sentence halves and underline the conditional 
constructions: 

B. Make the correct sentences using a mixed conditional for a 
hypothetical present and a past action/situation: (2+3) 

1. She would have moved (move) to Bafang a long time ago if she  had (have) more money.


2. If I worked (work) from nine to five, I would have gone (go) to the gym every week last year.


3. If she lived (live) closer, we would have seen (see) each other much more often.


C. Make the correct sentences using a mixed conditional for a 
hypothetical past and a present action/situation: (3+2) 

1. We wouldn’t be (not be) in such a mess now if he had done (do) his job properly.


2. She would work (work) much better today if he had asked (ask) her nicely to do that job.


3. If we had traveled (travel) via Italy, we would not have (not have) to pay so much now.

1. If we lived in France 1E present result of a past condition (2+3)

2. I'd be home by now 2C present result of a past condition (2+3)

3. Their dog'd have won that dog show 3A Past result of present action (3+2)

4. If we hadn't gone to bed so late yesterday 4D Past result of present action (3+2)

5. My room wouldn't have been in such a mess then 5B Past result of present action (3+2)
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